
 

 

Equivalence between new and old forms for ∇2h 
 
∇2h  =  [∂2h/∂λ2 + cosφ ∂(cosφ ∂h/∂φ)/∂φ] / R2 cos2φ  = 
        =  [∂2h/∂λ2 + cosφ (cosφ ∂2h/∂φ2 − sinφ ∂h/∂φ)] / R2 cos2φ  = 
        =  [∂2h/∂λ2 / cos2φ + ∂2h/∂φ2 − sinφ ∂h/∂φ / cosφ] / R2  =  X 
 
 
∂λ/∂δ  =  W•P×U / cosφ  =  − sinλ / cosδ cosφ  
∂λ/∂ε  =  W•P×V / cosφ  =     cosλ / cosε cosφ 
∂φ/∂δ  =  N•P×U  =  − cosλ sinφ / cosδ 
∂φ/∂ε  =  N•P×V  =  − sinλ sinφ / cosε 
 
∇2h  =  ∇•(∇h)  = 
=  [cosδ ∂(cosδ ∂h/∂δ)/∂δ + cosε ∂(cosε ∂h/∂ε)/∂ε + cosφ ∂(cosφ ∂h/∂φ)/∂φ] / R2  = 
 
=  {cosδ ∂[cosδ (∂λ/∂δ ∂h/∂λ + ∂φ/∂δ ∂h/∂φ)]/∂δ + 
   + cosε ∂(cosε (∂λ/∂ε ∂h/∂λ + ∂φ/∂ε ∂h/∂φ)]/∂ε + cosφ ∂(cosφ ∂h/∂φ)/∂φ} / R2  = 
 
=  {cosδ ∂[− sinλ ∂h/∂λ / cosφ − cosλ sinφ ∂h/∂φ]/∂δ + 
   + cosε ∂(cosλ ∂h/∂λ / cosφ − sinλ sinφ ∂h/∂φ]/∂ε + cosφ ∂(cosφ ∂h/∂φ)/∂φ} / R2  = 
 
=  {cosδ [∂λ/∂δ ∂(− sinλ ∂h/∂λ / cosφ − cosλ sinφ ∂h/∂φ)/∂λ + 
             + ∂φ/∂δ ∂(− sinλ ∂h/∂λ / cosφ − cosλ sinφ ∂h/∂φ)/∂φ] + 
    + cosε [∂λ/∂ε ∂(cosλ ∂h/∂λ / cosφ − sinλ sinφ ∂h/∂φ)/∂λ + 
              + ∂φ/∂ε ∂(cosλ ∂h/∂λ / cosφ − sinλ sinφ ∂h/∂φ)/∂φ + cosφ ∂(cosφ ∂h/∂φ)/∂φ} / R2  = 
 
=  {sinλ ∂(sinλ ∂h/∂λ / cosφ + cosλ sinφ ∂h/∂φ)/∂λ / cosφ + 
      + cosλ sinφ ∂(sinλ ∂h/∂λ / cosφ + cosλ sinφ ∂h/∂φ)/∂φ + 
      + cosλ ∂(cosλ ∂h/∂λ / cosφ − sinλ sinφ ∂h/∂φ)/∂λ / cosφ + 
      − sinλ sinφ ∂(cosλ ∂h/∂λ / cosφ − sinλ sinφ ∂h/∂φ)/∂φ + cosφ ∂(cosφ ∂h/∂φ)/∂φ} / R2  = 
 
=  {sin2λ ∂2h/∂λ2 / cos2φ + sinλ cosλ ∂h/∂λ / cos2φ + 
      + sinλ cosλ sinφ ∂2h/∂φ∂λ / cosφ − sin2λ sinφ ∂h/∂φ / cosφ + 
      + cosλ sinφ sinλ ∂2h/∂λ∂φ / cosφ + cosλ sin2φ sinλ ∂h/∂λ / cos2φ + 
      + cos2λ sin2φ ∂2h/∂φ2 + cos2λ sinφ cosφ ∂h/∂φ + 
      + cos2λ ∂2h/∂λ2 / cos2φ − cosλ sinλ ∂h/∂λ / cos2φ − 



 

 

      − cosλ sinλ sinφ ∂2h/∂φ∂λ / cosφ − cos2λ sinφ ∂h/∂φ / cosφ 
      − sinλ sinφ cosλ ∂2h/∂λ∂φ / cosφ − sinλ sin2φ cosλ ∂h/∂λ / cos2φ + 
      + sin2λ sin2φ ∂2h/∂φ2 + sin2λ sinφ cosφ ∂h/∂φ + cos2φ ∂2h/∂φ2 − cosφ sinφ ∂h/∂φ} / R2  = 
 
=  {∂2h/∂λ2 / cos2φ − sinφ ∂h/∂φ / cosφ + sin2φ ∂2h/∂φ2 + sinφ cosφ ∂h/∂φ − 
      + cos2φ ∂2h/∂φ2 − cosφ sinφ ∂h/∂φ} / R2  = 
 
=  {∂2h/∂λ2 / cos2φ − sinφ ∂h/∂φ / cosφ + ∂2h/∂φ2} / R2  =  X 
 
 
 
∂λ/∂µ  =  − rp / (pp+qq)   =  − cosλ tanφ 
∂λ/∂ν  =  − qr / (pp+qq)   =  − sinλ tanφ 
∂φ/∂µ  =     q / √(pp+qq)  =     sinλ 
∂φ/∂ν  =  − p / √(pp+qq)  =  − cosλ 
 
∇2h  =  [∂2h/∂µ2 + ∂2h/∂ν2 + ∂2h/∂λ2] / R2  = 
 

=  [∂(∂λ/∂µ ∂h/∂λ + ∂φ/∂µ ∂h/∂φ)/∂µ + ∂(∂λ/∂ν ∂h/∂λ + ∂φ/∂ν ∂h/∂φ)/∂ν + ∂2h/∂λ2] / R2  = 
 

=  [∂λ/∂µ ∂(∂λ/∂µ ∂h/∂λ + ∂φ/∂µ ∂h/∂φ)/∂λ + ∂φ/∂µ ∂(∂λ/∂µ ∂h/∂λ + ∂φ/∂µ ∂h/∂φ)/∂φ + 
      ∂λ/∂ν ∂(∂λ/∂ν ∂h/∂λ + ∂φ/∂ν ∂h/∂φ)/∂λ + ∂φ/∂ν ∂(∂λ/∂ν ∂h/∂λ + ∂φ/∂ν ∂h/∂φ)/∂φ + 
      + ∂2h/∂λ2] / R2  = 
 
=  [− cosλ tanφ ∂(− cosλ tanφ ∂h/∂λ + sinλ ∂h/∂φ)/∂λ + 
      + sinλ ∂(− cosλ tanφ ∂h/∂λ + sinλ ∂h/∂φ)/∂φ + 
      − sinλ tanφ ∂(− sinλ tanφ ∂h/∂λ − cosλ ∂h/∂φ)/∂λ + 
      − cosλ ∂(− sinλ tanφ ∂h/∂λ − cosλ ∂h/∂φ)/∂φ + ∂2h/∂λ2] / R2  = 
 

=  [− sinλ cosλ tan2φ ∂h/∂λ + cos2λ tan2φ ∂2h/∂λ2 − 
      − cos2λ tanφ ∂h/∂φ − sinλ cosλ tanφ ∂(∂h/∂φ)/∂λ − 
      − sinλ cosλ (1 − tan2φ) ∂h/∂λ − sinλ cosλ tanφ ∂(∂h/∂λ)/∂φ + 
      + sinλ cosλ ∂h/∂φ + sin2λ ∂2h/∂φ2 + 
      + sinλ cosλ tan2φ ∂h/∂λ + sin2λ tan2φ ∂2h/∂λ2 − 
      − sin2λ tanφ ∂h/∂φ + sinλ cosλ tanφ ∂(∂h/∂φ)/∂λ + 
      + sinλ cosλ (1 − tan2φ) ∂h/∂λ + sinλ cosφ tanφ ∂(∂h/∂λ)/∂φ − 
      − sinλ cosλ ∂h/∂φ + cos2λ ∂2h/∂φ2 + ∂2h/∂λ2] / R2  = 



 

 

 

=  [cos2λ tan2φ ∂2h/∂λ2 − cos2λ tanφ ∂h/∂φ + sin2λ ∂2h/∂φ2 + 
      + sin2λ tan2φ ∂2h/∂λ2 − sin2λ tanφ ∂h/∂φ + cos2λ ∂2h/∂φ2 + ∂2h/∂λ2] / R2  = 
 

=  [tan2φ ∂2h/∂λ2 − tanφ ∂h/∂φ + ∂2h/∂φ2 + ∂2h/∂λ2] / R2  = 
 

=  [∂2h/∂λ2 / cos2φ − sinφ ∂h/∂φ / cosφ + ∂2h/∂φ2] / R2  =  X 
 


